RESOLUTION NO. 2021- 2837

A RESOLUTION OF THE TOWN COMMISSION OF THE TOWN OF SURFSIDE, FLORIDA, APPROVING AND **AUTHORIZING THE PURCHASE OF FOUR (4) 2022 FORD POLICE INTERCEPTOR** UTILITY VEHICLES, **TOGETHER** WITH **EMERGENCY** LIGHTING EQUIPMENT, GRAPHICS, AND RADIO EQUIPMENT FOR **VEHICLE:** FINDING POLICE **THAT** EACH **PURCHASE** THE **POLICE VEHICLES** AND **OF** EMERGENCY LIGHTING EQUIPMENT, GRAPHICS, AND **EOUIPMENT** ARE **EXEMPT** FROM **RADIO COMPETITIVE BIDDING PURSUANT TO SECTION 3-13(3)** OF THE TOWN CODE; DECLARING CERTAIN POLICE VEHICLES AND EQUIPMENT AS SURPLUS PROPERTY AND AUTHORIZING THE SALE OR DISPOSITION OF PROPERTY: **PROVIDING FOR** THE **SURPLUS** AND **PROVIDING FOR** AN **IMPLEMENTATION:** EFFECTIVE DATE.

WHEREAS, the Town of Surfside ("Town") Police Department is in need of four new 2022 Hybrid Patrol Ford SUV Police Interceptor Vehicles (collectively, the "Police Vehicles") to enhance patrol of the Town for the safety of its residents and visitors and facilitate the provision of day-to-day operations of the Police Department; and

WHEREAS, the Town Commission finds that the purchase contemplated by the Town for the Police Vehicles has already been competitively bid by the Florida Association of Sheriffs ("Sheriffs' Bid") and is exempt from competitive bidding pursuant to Section 3-13(3) of the Town's Code of Ordinances ("Code"); and

WHEREAS, the Sheriffs' Bid resulted in the Florida Association of Sheriffs' Contract Number FSA20-VEL28.0 ("Sheriffs' Contract"), which allows local governments statewide to utilize the Sheriffs' Contract for their own benefit and pricing; and

WHEREAS, the Town Commission seeks to authorize the Town Manager to purchase the Police Vehicles at a cost of \$39,414.00 per vehicle (total of \$157,656.00) from Garber Ford, Inc.

("Garber Ford") by using the Sheriffs' Contracts pursuant to Section 3-13(3) of the Town's Code and consistent with the quote attached hereto as Exhibit "A"; and

WHEREAS, the Town Commission further desires to authorize the purchase and installation of (i) emergency lighting equipment ("Lighting"), (ii) white vinyl and reflective decal graphics ("Graphics"), and (iii) radio equipment ("Radios") for the Police Vehicles; and

WHEREAS, the Town Commission finds that the purchase of the Lighting is exempt from competitive bidding per Section 3-13(3) of the Town Code, pursuant to a contract awarded by the City of Kissimmee to HG2 Emergency Lighting LLC ("HG2") for Lighting through competitive bid number BA 2015-012; and

WHEREAS, HG2 has provided the Town with a quote attached hereto as Exhibit "B" for the purchase and installation of the Lighting for the Police Vehicles at a total cost of \$36,676.00 ("Lighting Purchase"), and the Town Commission wishes to authorize the Town Manager to implement the Lighting Purchase from HG2 consistent with the quote attached hereto as Exhibit "B"; and

WHEREAS, Sign Savers, Corp. ("Sign Savers") has provided the Town with a quote attached hereto as Exhibit "C" for the purchase and installation of the Graphics for the Police Vehicles at a cost \$750.00 per vehicle ("Graphics Purchase") plus an installation charge of \$100 (total cost of \$3,100.00), and the Town Commission further authorizes the Graphics Purchase consistent with the quote attached hereto as Exhibit "C"; and

WHEREAS, Miami-Dade County ("County") has provided the Town with a quote attached hereto as Exhibit "D" for the installation of Radios for the Police Vehicles at a cost of \$250.00 per vehicle or a total cost of \$1,000.00 ("Radio Purchase"), and the Town Commission

further wishes to authorize the Radio Purchase consistent with the quote attached hereto as Exhibit "D"; and

WHEREAS, the Town Commission declares the police vehicles and equipment identified in the Town Commission Communication Memorandum attached to this Resolution (the "Surplus Property") as surplus property that has become obsolete, outlived its usefulness, is inadequate for the public purposes for which it was intended, or is no longer needed for public purposes in light of the purchases authorized by this Resolution; and

WHEREAS, the Town Commission authorizes the Town Manager or his designee to sell or otherwise dispose of the Surplus Property in accordance with the Town Charter, the Town Code, and Florida Law; and

WHEREAS, the Town Commission finds that this Resolution is in the best interest and welfare of the Town.

NOW, THEREFORE, BE IT RESOLVED BY THE TOWN COMMISSION OF THE TOWN OF SURFSIDE, FLORIDA, AS FOLLOWS:

Section 1. Recitals. Each of the above-stated recitals are hereby adopted, confirmed, and incorporated herein.

Section 2. Approval and Authorization to Purchase Police Vehicles; Together with Emergency Lighting Equipment, Graphics, and Radio Equipment. The Town Commission hereby approves and authorizes the purchase of the Police Vehicles from Garber Ford in the amount of \$157,656.00 in accordance with the Quote attached hereto as Exhibit "A." The Town Commission further approves and authorizes: (i) the Lighting Purchase for the Police Vehicles from HG2 in accordance with the quote attached hereto as Exhibit "B" for a total cost of \$36,676.00; (ii) the Graphics Purchase for the Police Vehicles from Sign Savers Corp. in

accordance with the quote attached hereto as Exhibit "C" for a total cost of \$3.100.00; and (iii) the Radio Purchase for the Police Vehicles from Miami-Dade County in accordance with the quote attached hereto as Exhibit "D" for a total cost of \$1,000.00. The Police Vehicle Purchase, the Lighting Purchase, the Graphics Purchase and the Radio Purchase are a total collective amount not to exceed \$198,432.00.

<u>Section 3.</u> <u>Exemption from Competitive Bidding.</u> The Town Commission hereby finds that the Garber Ford Purchase utilizing the Sheriffs' Contract and the Lighting Purchase utilizing the City of Kissimmee Contract are exempt from competitive bidding pursuant to Section 3-13(3) of the Town Code.

Section 4. Declaration of Surplus Property. The Town Commission finds that the Surplus Property identified in the Town Commission Communication Memorandum attached to this Resolution has become obsolete, outlived its usefulness, is inadequate for the public purposes for which it was intended, or is no longer needed for public purposes. Accordingly, the Town Commission declares the Surplus Property to be surplus personal property of the Town.

Section 5. Authorizing Sale or Disposition of Surplus Property. The Town Manager is hereby authorized to sell or dispose of the Surplus Property identified in the Town Commission Communication Memorandum attached to this Resolution by public auction or other procedure determined by the Town Manager to be in the best interests of the Town, and in accordance with the Town Charter, Town Code, and Florida Law. Any surplus property items acquired by the Town pursuant to governmental grant programs shall only be disposed of in accordance with procedures and criteria applicable to such grant programs.

<u>Section 6.</u> <u>Implementation.</u> That the Town Commission hereby authorizes the Town Manager to execute any purchase order or required documentation for the purchases described in

this Resolution, subject to approval by the Town Attorney as to form and legality, and to take any action which is reasonably necessary to implement the purpose of this Resolution.

Section 7. Effective Date. This Resolution shall become effective immediately upon its adoption.

PASSED AND ADOPTED on this 14th day of December, 2021.

Motion By: _	Commissioner Velasquez
Second By:	Commissioner Kesl

FINAL VOTE ON ADOPTION:

Commissioner Charles Kesl Yes
Commissioner Eliana R. Salzhauer
Commissioner Nelly Velasquez
Vice Mayor Tina Paul
Mayor Charles W. Burkett
Yes

Charles W. Burkett, Mayor

ATTEST:

Sandra McCready, MMC

Town Clerk

APPROVED AS TO FORM AND LEGAL SUFFICIENCY:

Weiss Serota Helfman Cole & Bierman, P.L.

Town Attorney



Town of Surfside

Town of Surfside Attn: Elinor Joseph

ejoseph@townofsurfside.gov 305.861.4862

Garber Ford Inc

Todd Brandt

(904) 264-2442 ext.2348 FAX: (904) 284-0054 3380 Highway 17 Green Cove Springs FL, 32043

tbrandt@garberautomall.com



Prices are published by the Florida Sheriffs Association. (https://www.flsheriffs.org/our_program/purchasing_programs/cooperative-fleet-bid-awards/). Purchasing contract number is FSA20-VEL 28.0, expiring September 30th, 2021 for – Police Rated Vehicles/Motorcycles, Sedans & Light Trucks. If you have any questions regarding this quote please call!

Base Price

			Net Price
odes	Optional Equipment	Unit Price	Net Price
00A	POLICE PACKAGE	Included	\$0.0
9W	3.3L V6 HYBRID ENGINE	Included	\$0.
4B	10-SPEED AUTOMATIC TRANSMISSION	Included	\$0.
М	SOLID EXTERIOR PAINT: AGATE BLACK	Included	\$0.0
6	CLOTH BUCKETS W/REAR VINYL: CHARC BLACK	Included	\$0.0
OA	GRILLE PREWIRING	49	\$49.0
3D	DARK CAR FEATURE	24	\$24.0
6T	PREDRILLED HOLE IN TAILLAMP	59	\$59.0
2P	HIDDEN DOOR LOCK PLUNGER/WIND/DOORS INOP	159	\$159.
8G	REAR DOOR CONTROLS INOP: INCLUDED	Included	\$0.0
1R	DRIVERS LED SPOTLIGHT	Included	\$0.0
7R	REAR VIEW CAMERA DIPLAYED IN MIRROR: INCL	Included	\$0.0
.8D	GLOBAL UNLOCK: NO CHARGE	0	\$0.0
88B	POLICE PERIMETER ALERT	674	\$674.0
55F	KEYLESS ENTRY PACKAGE	Included	\$0.0
	5YR/75,000 MILES FORD EXTRA CARE WAR W/\$0 DE	1960	\$1,960.0
	DUCTIBLE	0	\$0.0
		0	\$0.0
		0	\$0.0
			\$0.0
TAG	TEMP TAG	6	\$6.0
EL	DELIVERY		



HG2 Emergency Lighting 477 N Semoran Blvd Orlando, FL 32807

Quote

Date	Quote No.
10/13/21	3744

407-426-7700 sales@hg2lighting.com 407-426-7700 www.hg2lighting.com

Bill To	
Surfside PD	
Juli Side i D	

Ship To				
	of their name of the respective			

P.O. Number	Terms	REP	Vehicle	Vin#
QUOTE			2022 Ford Interceptor SUV	

Item	Description	Quantity	Rate	Amount
QK0494ITU12	Setina Full Transport Seat with Center Pull Seatbelts	4	679.00	2,716.00
	for 2020+ Ford Interceptor SUV			
PK1126ITU12	Setina 10XL Front Prisoner Partition 2020+ Ford	4	679.00	2,716.00
	Interceptor SUV			
PK0123ITU122N	Setina 12VS Expanded Metal Partition For Stock	4	359.00	1,436.00
D	Seat or Setina TPO Seat 2020+ Ford Interceptor			
	SUV			
WK0514ITU12	Setina Steel Window Bars Vertical 2020+ Ford	4	209.00	836.00
	Interceptor SUV			
TH750	Thor 750 Watt Inverter	4	65.00	260.00
7170-0166	Gamber Johnson Vehicle Kit 2020+ Ford Interceptor	4	509.00	2,036.00
	SUV. Includes Cupholder, Arm Rest, and Mongoose			
	Motion Device			
7160-0250	Gamber Johnson Notepad V Universal Cradle	4	229.00	916.00
WHL-LIB2-BRW	Whelen Liberty 2 Lightbar Blue/Red with	4	1,550.00	6,200.00
	Takedowns, Alley and Traffic Advisor Function			
CCSRN3	Whelen Cencom Siren 16 Button	4	700.00	2,800.00
VTX609B	Whelen Vertex Strobe Blue Head Light Driver Side	4	55.00	220.00
VTX609R	Whelen Vertex Strobe Red Head Light Passenger	4	55.00	220.00
	Side			
VTX609B	Whelen Vertex Strobe Light Blue Driver Taillight	4	55.00	220.00
VTX609R	Whelen Vertex Strobe Light Red Passenger Tailight	4	55.00	220.00
MCRNTB	Whelen Micron Stud Mount Blue	4	79.00	316.00
MCRNTR	Whelen Micron Stud Mount Red	4	79.00	316.00
Thank You For Yo	our Business!		Subtotal	\$36,676.00
			Sales Tax (0.0%)	\$0.00
			Total	

Quote



HG2 Emergency Lighting 477 N Semoran Blvd Orlando, FL 32807

Date	Quote No.
10/13/21	3744

407-426-7700 sales@hg2lighting.com

407-426-7700 www.hg2lighting.com

Bill To	Ship To
Surfside PD	

P.O. Number	Terms	REP	Vehicle	Vin#
QUOTE			2022 Ford Interceptor SUV	

Item	Description	Quantity	Rate	Amount
HG22PC68BR-I NT	Blue/Red 68" Side Runner Kit Interceptor Bracket	4	799.00	3,196.00
HG2RWINTSUV -BR	Blue/Red Rear Visor Ford Interceptor SUV with Back Fire Lights	4	699.00	2,796.00
Labor	Labor/Installation	4	1,250.00	5,000.00
nstallation-Kit	Installation Kit Including Fuses and Wiring	4	75.00	300.00
Misc	Westin Push Bumper with 4 Forward Lights	4	650.00	2,600.00
Misc	Side Push Bumper Lights Pair	4	250.00	1,000.00
Labor	Labor/Installation of Radio	4	89.00	356.00
Thank You For Yo	our Business!		Subtotal Sales Tax (0.0%)	\$36,676.00
			Total	\$36,676.00

Exhibit D

Miami Dade ITD



6010 SW 87 AVE MIAMI, FL 33173 Phone (305) 596-8061

Quotation valid until: 30 Days

November 5, 2021

Prepared by:

Carlos Ros

Surfside P.D

Comments or special instructions:

Description	PRICE	Quantity	AMOUNT
7300M,KIT,INSTALL,TRMT	\$250.00	4	\$1,000.00
			\$0.00
			\$0.00
			\$0.00
			\$0.00
		TOTAL	\$1,000.00

If you have any questions concerning this quotation, contact: Carlos Ros 305-596-8061

THANK YOU FOR YOUR BUSINESS!